Question Boolklet Series - A

Questions:
60 Questions to be filled

1. TF TTaT FPT e d AR TS 1 @7 URAY R 1 ) U G o g s SR Iuat
TS ST Y @, ST Uk g

The resistance of a conductor of diameter d and length I is R €. If the diameter of the conductor is
halved and its length is doubled, the resistance will be
(A) RQ
(B) 2RQ
(C) 4RQ
(D) 8RQ

2. d Traw O iRy o1 oie 7
A semiconductor has terriperature coefficient of resistance.
(A) UPRIHD / Positive
(B) YA/ Zero
(C) BUTHSD /Negative
(D) - SR H15 H &l /None of the above

3. ﬁﬁﬂﬂﬁm%ﬁmm&%@mﬁmq{émaﬁ%n

On the basis of dimensional equation, the maximum number of unknown that can be found, is -
(A} TP /one

(B) al/wo

(C) T /three

(D) =R ffour

4, C WU Hafa o umr %! GRS P O °
C Programs are converted into machine language with the help of
(A) TSR/ An Editor
(B) ISR /A compiler
(C) TP SHORIET Homel /An operating system
(D) 278 ®is U 981 /None of these.

5. UeSHRT Sui emgfd & $99e vt diear sear §, < eigeye dieedr
In an unregulated power supply, if input a.c. voltage increases, the output voltage
(A) wedre/ Increases
(B) YA / Decreases
(C) JETEII@ATE/ Remains the same
(D) SRad BE o T8/ None of the above

6. fradifveicyde o ufde feq iy ?
Which of these sets of logic gates are designated as universal gates?
(A) NOR, NAND. '
(B) XOR, NOR, NAND.
(C) OR,NOT, AND.
(D) NOR, NAND, XNOR.
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10.

11.

12.

13.
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SUIE HAR &1 Ry I g

The frequency range for satellite communication is
(A) 1kHz-100kHz

(B) 100kHz-1MHz

(C) 10MHz-30 MHz

(D) 1GHz-30GHz

RIIRC R DI R fafY 1 3l fomar Srar 21
The CRO uses Method of focusing

(A) Electronic

(B) Electromagnetic

(C) Electrostatic

(D) Electromechanical

eA fRdse 8051 #, Ao foraa Wifge simst fiey TI 9k RI o1 s anar

In 8051 microcontroller, the register that holds the serial data interrupt bits TT and RI is
(A) SMOD

(B) SCON

(Cy PCON

(D) IE

T & B W ey ois g 82

Which of the following is not a binary code?

(A). TR/ Morse

(B) UTIRF/ARQ

(C) WIS /Baudot |
D) wheedd -2/ CCITT2 B

A e Jig wvt or s & Ty Wi foie 9 9e 2

In each node is connected to every other node by direct links.
(A) Tt/ Ring topology

(B) ¢ atﬁ?ﬂﬁﬁ { Tree topology

(C) TSt /Mesh topology

(D) WREMEST/ Star topology

R R R ey et R

If frames are displayed on screen fast enough, we get an impression of

(A) R/ Signals

(B) HRAY/ Motions
(C) THTH /Packets

(D) foey/ Bits
frafafed & 3 ue civeR @) 9gd o1e) Yy R |rae 7 Sudhr far s 2|

One of the following transducers is used for very small linear displacement measurements
(A) wadrEid/LvDT
(B) TR IS/ Pirani gauge

(C) Y9 / Thermocouple

(D) Y §THrSR /Shaft encoder
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14.

I5.

16.

17.

18.

19.
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WP T & 3M3CYE TR U@ BIeT gd Freftid B gl
A small circle on the output of a logic gate is used to represent the:
(A) Comparator operation.

(B} OR operation.

(C) NOT operation.

(D) AND operation.

ek HET) gl

A fetch cycle is the

' (A)  SJGY UTSidvd BT UYH WAT/ First part of the instruction cycle

(B) SIS Wrglchel BI3{fcr# YT / Last part of the instruction cycle

) &Eﬁﬂ Tefdd BHE YT/ Intermediate part of the instruction cycle |
(D)  Scx WIsfdd SIYIE YT /Auxiliary part of the instruction cycle.

SR TSR T Ui HYd B

Most radar antennas use a

(A) Tggd/ Dipole ,

(B) {&%Id o &g / Broadside array

(S 3R Raed® WRad® / Horn and parabolic reflector

(D) YgW® g/ Collinear array
EARC] 3 faggd fava &1 RS =it o) 9&ar g

EEG can involve the recording of electrical potentials from
(A oo, Ak § Fia seeded g

Groups of neurons, via electrodes inserted into the brain
(B Ushd @'ﬂ/ Single neurons.
(C) —gIa T aqg, RN e gm @ sdadisd gRl

Groups of neurons, via electrodes placed on the scalp
(D) IWRIa G4 /ALl of the above

TR UAUREY & I & foe siftresiea fas mr g1
ARM processors were basically designed for

(A) TBH HH UUIEH / Main frame systems

(B) fdaia yumredt / Distributed systems

(C) TIESa YOI / Mobile systems

(D) YR PR/ Super computers

e 8 Doy dreean Fftg PR g
The voltage induced in an inductor is represented as,
(A) TRl 3R BT YRT I UG

Product of its inductance and current through it.

(B) Ok IR IS URT S weard X BT U

Product of its inductance and rate of change of current through it.

(C) WREaT AP YR Pl gad
Ratio of its inductance to current through it.
(D) IYD! YRT W TRl BT ST

Ratio of current through it to its inductance.
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20.

21,

22.

23.

24,

25.

26.
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TF 37 S pn Y SRS &1 UfeRly 59 @ife A grar gl

A forward biased pn junction diode has a resistance of the order of

(A) O (
(B) kO
©) MQ

(D) SURIGd @IS 61 / None of the above

YOfarP Heid T ST §
Dimensions of relative density are

(A) FIHM/ AE3 / mass/ length™

(B) ToddM x @S/ mass x length’

(C) SIH 1% HRIH G / It has no dimensions
(D) da® / G/ length®/mass

‘CP! goIa. (9w R fear

‘C’” was primarily developed as

(A) womelt TIATFET {7 / System programming language
(B) 9T TS HET/ General purpose language

(C)  3fiPeT TR UTHT / Data processing language

D) Sudad ®TE gt / None of the above

et PR S amgfd @ § ored dreear P gl

In an ideal regulated power supply is one which has voltage regulation of
(A) 0%

(B) 5%

©) 10%

D) 1%

FraAfor e # 9 FieT AT AR U iR i e ST B e Sy gfeve 5w o 3R e

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM

(B) DRAM

(C)  Both SRAM and DRAM

(D) None

e ATET B AS & HIeT fgr St AR

Transmission line must be matched to the load to

(A) <SPl fwmaH diecal RHARA/ transfer maximum voltage to the load
(B) oS if¥ieas diecdl RIFIGRT / transfer maximum power to the load

(C) WIS YRIDIHH B/ reduce the load current

(D) IS BT AYBHTH URTRIFANT B/ transfer maximum current to the load

T YR U@ TReg®R & ol Fr Ay FwET
A Thermistor is a transducer which converts
(A) TOAEF Y FRIY® / Temperature to resistance
(B) GuEM Y aieeal/ Temperature to voltage
(C) QUHM ¥ YRT/ Temperature to current
(D) SUAEI DTS T8I/ None of these
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28.

29.

30.

31
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3B ST TuR T &1 FEd 5

Data communication refers to the transmission of
(A) 3@/ Voice _

(B) @ 3fidal/ Computer data

(C) difgdr/ Video

(D) WG D% T8l /All the above

T e e garet gy <) wrged § w1

In the case of a direct physical connection path is established between two computers.
(A) ufvgy &R/ Circuit switching

B) e FafeiT/ Packet switching

(©) o9 iy Message switching

(D) S/ Datagram

diecHieR ®f ARl 7 o g
Voltmster sensitivity is expressed in

(A) ohm /V

(B) V/ohm

(C) Ohm-V

(D) Volts

DIAC 3R $% 74l afdp gl

A DIAC is nothing else but a

(A) TRIAC fa1 ie efifae & / TRIAC without the gate terminal
(B) GTO & WM TI 1T / GTO with two gates

(C)  SCS & Y U 71T / SCS with one gate

(D) TR & 91y Te §aI9@ / Transistor with one junction

3-3799¢ OR #e & T -4 T §ge & o, A9 1 sm8eqe e w8 7
For a 3-input OR gate, with the input waveforms as shown below, which output waveform is,
correct? '

INPUT B ___J—]—___!—

INPUT C E
QUTPUT a |
OUTPUT b ﬁ

OUTPUT ¢

OUTF’%JTCI—[ !
(A) a

(B) b
) ¢
D) d
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33.
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35.

36.

37,
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DMW%WW%WE&W& PEd el

The concept of utilizing the bus for DMA operations is known as
(A) CPUHIE/ CPU cheating

(B) urgida Wi/ Cycle stealing .
(C) CPU WA /CPU stealing
(D) WRITT Bis 781/ None of the these-

% Tlhae GRT YT 9819 gl B

The skin effect causes current to flow
(A) dRIP B PE H/ In the center of the conductor

(B) <0% & Hdg &b U/ Near the surface of the conductor _
(C) TS FUT IR F IR/ Through central core of the conductor
(D) P P URUH TUH/ Uniformly through the conductor

ARM T /g9 W 8l
The address space in ARM is
(A) 2724

B) 2°64

(C) 2M6

(D) 2732

ot o § $F 1 i ad -
Which of the followings is/are active element?

(A) dieea @R/ Voltage source

(B) YRTEId/ Current source

(C) @i/ Both ,

(D) SWIF Y P38/ None of these.

%9 VHDL &fdsi yeR & Rk 1 710 1w @) waar 87
- Which VHDL data type can only have a value of '1' or '0'?

(A) fuma/ signal

®) T/ bit

(C)  std_logic/ std logic
(D) TR/ integer

pn e Y & BT B B
A pn junction acts as a

(A) TEfRTf&EE/ Controlled switch

®) fefawmd 9%/ Bidirectional switch
(C) e fewril < / Unidirectional switch
(D) WIS Big 81/ None of the above
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39.

40,

41.
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ue fiig quft Tam o

The body will move only when

(A)
(B)
©
(D)

U7 6] = S{WRIa §a/ Force of friction = applied force
YU §of <@ 9gad 9/ Force of friction < applied force

YHf0] ¢ >S9 / Force of friction > applied force
IR G/ All of the above

Gl §99¢ TR LI 9Iee 8 W, T6 OP-amp H &=l . mcroezﬁmm%m

With zero volts on both inputs, an OP-amp ideally should have an output

(A)
(B)
(©)
D)

HRTHE HI"Iﬁ diecdl & UM/ equal to the positive supply voltage
FUTHD SH1Gfd dIeedl & T/ equal to the negative supply voltage
Y & GHAM / equal to zero

CMRR & 95 / equal to CMRR

Profef@a & 4 S 91 e e &2

Which of the following statements is incorrect?

(A)

(B)

- (©

(D)

WLWﬁH@H@WW@?ﬁ%@RWB’HWW@HWﬁW
ST faaT ST B

TTL logic has very low power consumptlon and is therefore widely nsed in highly
integrated components.

TTL gice # i TR ad9 3.4 V iR 0.2 V=T 81

TTL devices have logic levels of about 3.4 Vand 0.2V,

TTLY WHR0: Thd 5 V YR w&re §

TTL logic normally operates from a single 5 V supply

TS TTLY § Sevor e gar ® o fgydia ciftred & Wmmwﬁa%!
Standard TTL devices have a propagation delay that is dominated by the storage time of the
b1polar transistors used.

fafefea fog ame o uftuy R3 & e & vavar ool sear 81

Under which of the following case the power dissipated in R3 in the circuit shown will

(A)
(B)
©
(D)

-increase?

9 R1ST9e™I 8/ When R1 is increased

& R2 &Y g0 I8/ When R2 is doubled

E R A B G/ E is reduced

R4 &7 3T Uﬁftmﬁo‘m Wi @/ R4 is short circuited.

Ri1
My

R3
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46,

47..
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TH Faall BT Q Baex 7|

Q factor of a coil is given by
(A) XL/R

(B) R/XL

(C)y XLiXe

(D) X/ XL

T R U SR S —

In sampling theorem the Nyquist interval is given by

(A) Ts= 1
- fm
®B) Ts= 1
2 fim
© T 1
. nfm
D)y Ts= =
fm

WWW g WTiold g

The WWW is a(n) - layer protocol
(A) 9\fdw)/ Physical

(B) SrIWERT/ Application

(C) SiiHSIHSl/ Data link

(DY A/ Session

B T e gHHRR & B BRaE & s 87

Which gate corresponds to the action of parallel switches?
(A} OR gate

(B) NOR gate

. {(C) NAND gate

(D) AND gate

TQT BT GUTOT 3R AR B |
is the fransmission and reception of information.
(A) HIgad/ Modulation
B) - W! Communications
(C) fafdur/ Radiation
(D) Qo / Emission

%mtrr%m%as‘aﬁemﬁaﬁ@fuﬁaaﬁ H1 B

Before audio or video signals can be sent on Internet, they need to be

(A) FllFd/ Channelized

(BY YW/ Managed

(C) SidiFd/ Digitized
(D) widd/ Organized
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e gerd oge e a1 arge & Rigla 1R anuia 3

Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT

(B) URIICAIS/ Pencil triode

(C) TWHSH/ Magnetron

(D) TEFEM/ Klystron

ST am G&dl B1a1 & WId a1l T 41T SIS o &1 & ?

Maximum efficiency will occur, when copper loss is to iron loss?
(A) W 1G1 / Greater than

(B) Y HH/Less than

(C)y w|HF/ Equals to

(D) SRS P13 T8t/ Any of the above
o Sl uRudl W iR ST IUGRT i3 91 & 6 98 I ﬁmﬁaﬁm%!

When transistors are used in digital circuits they usually operate in the:

(A) SRbaem/ active region

(B) G &/ linear region

(C) ~ % SI31 &7 / breakdown region
(D) WYy ok FTHTH &7/ saturation and cutoff regions

IR BT i &

Principle of laser is

(A) @ S[EXNU/ spontaneous absorption
B) SHHIRY Jego / simulated emission
(C) TRUIIHSH/ induced emission

(D) @ (B) T (CYboth (B) and (C)

TF Al 11E & W - 3S;¢ BT Aaad 71 87
What is meant by the fan-out of a logic gate?
(A) ST TET B! T & e & ATSHeye Fl 9IS Tdd 5
The number of other gates that can be connected to the gate's output.
B FTRRuScE U FdustdRsgd
The physical distance between the output pins on the device.
(C) S TEl DI YT o el & 39S H I U T Uy SIST o 9Bl gl
The number of other gates that can be connected to one of the gate's inputs.
(D) K gRT 3uféa 2iaed &1 O '

The amount of cooling required by the gate

frafaf@a yonfeat & 9 warair B ar g§?

Which are the following systems is analog?

(A) PCM

(B) DM

(C) DPCM
(D) PAM
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ISDN ¥ Tei gl HepeuT gl
The fundamental concept in ISDN is the

(A) UG H$/ Analog signals

(B) W fde U/ Digital bit pie

(C) 3MEN IR/ Voice communication

(D) @R ¥GR/ Computer communication

fau 7 el 0 4 B9 NOR e ®7 uiaedi ¢ 2
Which of the figures given below represents a NOR gate?

1> 4> & 17 -

a. d.
(A) a
B) b
G ¢
M) d

TWT # o o1 guan & forg fpar W @
An attenuator is used in TWT fo :
(A) fide Wﬁf ! Prevent saturation

(B) Wer™dI =81/ Help bunching

(¢) TdT &/ Prevent oscillations -

) Wﬁﬁq/ Increasing ggin
it Sume Sumunerd) o itk e wen &g eRal &) uged e o 2

Batteries are used to power all satellite subsystems
(A) I GEEI TR/ At all times

(B) THE 30T P SR/ Only during emergencies
(C) Ugunafiat % R/ During eclipse periods
() YR T ! Ry & %ﬂ [ to give the solar érrays a rest

NPN iftre? & 39 & sifipan geie Harg &d B

Most of the electrons in the base of an NPN transisior flow:
(A) FeGe & 3T/ into the collector

(B) 9 ¥R % 418X/ out of the base lead

(C) U 3@/ into the emitter

(D) SEWEH & ${gx/ into the base supply

I ied vd gt & 9 o fRaar 81
g F UB IV $ HRU G g

Sun appears red at sun rise and sunset, This is due to scattering of
(A) @t aueH / longer wavelengths

(B) ﬁ%?ﬁ'ﬂ%ﬁ / shorter wavelengths

() g gl lower frequencies

(D) Tt Gﬂqﬁ?ﬁ { all frequencies
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Fafead sidaraes gfaaat o 3 59 o) g wram 3 Sudm o o gwar 21
Which of the following semiconductor devices can be used in an enhanced mode?
(A) ulT '

(B) NPN transistor :

(C) JFET

(@) MOSFET
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